Test Booklet Code & Serial No.

JYTIAhT hIS o HHT C

Paper-I1
ECONOMICS

Signature and Name of Invigilator Seat No.
1. (Signature) .......ccccecveeeeveeeieennieeeieens . .
g (In figures as in Admit Card)
(NamMe) .cooovveeeiieiieeee e
SEAtINO. .
2. (Signature) .......ccccceeeeeeecciveeeeeeeeene (In words)
(NamMe) .cooouveeeieeiieeeee e OMR Sheet No.
SEP -11221 (To be filled by the Candidate)
Time Allowed : 2 Hours] [Maximum Marks : 200
Number of Pages in this Booklet : 48 Number of Questions in this Booklet : 100
Instructions for the Candidates Termeatarst HETATAT T
1. Write your Seat No. and OMR Sheet No. in the space provided 1. qfemeff= oae oaq ®HiE O mw I forgme.
on the top of this page. : e s . 5
2. This paper consists of 100 objective type questions. Each question :
will carry two marks. All questions of Paper II will be compulsory. 2. HeX TR 100 E@Whﬁ T 3TRA. eI TP S T
3. At the commencement of examination, the question booklet 3T|%T-[ a Wqﬁ%?ﬁ?{‘qﬁ‘m‘{:ﬁg‘ﬁ@[ 31fard e;ﬂ%‘
will be given to the student. In the first 5 minutes, you are 3 qﬂmg{ammmmﬁﬁm W 5
requested to open the booklet and compulsorily examine it as ’ e & 2 7
follows : 2 /X SEEN } T
@) To have access to the Question Booklet, tear off the TEreAnd.
paper seal on the edge of this cover page. Do not accept @) YYAUTAHT STSTATHIS! JTUTheR ATeeicl Hiet SISTd.
a booklet without sticker-seal or open booklet. et el foran il Sueeel yea e e T
@) Tally the number of pages and number of questions in . 4
the booklet with the information printed on the cover (@) & TR TR T ) QQ. b TR 1{@
page. Faulty booklets due to missing pages/questions T eI ThU JeET e T&dlegd TR,
or questions repeated or not in serial order or any ‘{@W 3T/ HET 99T W@;ﬁ/m@mﬁ
other discrepancy should not be accepted and correct SToreh fraT amﬁmmm
booklet should be obtained from the invigilator within Wﬂ’a
the period of 5 minutes. Afterwards, neither the Question 5 <I¢ E! T ETRTel WA qE {i geTafreh HITEA
Booklet will be replaced nor any extra time will be TS, TR TYTATRT IGe[T THeeUR ATeT Ted deeel
given. The same may please be noted. Elceul THeUR 8l ar=it Exp! Taneat Ae =re.
(@ii) After this verification is over, the OMR Sheet Number e AT ‘TT%_*:I'FTW  ERIEED
should be entered on this Test Booklet. (@) = e ) ¢ b "
4. Each question has four alternative responses marked (A), (B), 3?'@3""-{ Faf>reh = For fererem.
(C) and (D). You have to darken the circle as indicated below on 4. Tk YIS (A), (B), (C) sfor (D) 391 9R faemeq Sw feeh
the correct response against each item. 3TMRd. TTdel T AT ThTAT Wil SITaTqHTol 33k qor
Example : where (C) is the correct response. e/ Forea wET

@ . @ I : R (C) § A IW 3THA W
5. Your responses to the items are to be indicated in the OMR @ . @

Sheet given inside the Booklet only. If you mark at any place

other than in the circle in the OMR Sheet, it will not be evaluated. 5. RIEREEIE RIS PRSI IEA R 3‘}‘1‘?3‘“ mm

6. Read instructions given inside carefully. TR foshon fefeeied ST el STUR .

7. Rough Work is to be done at the end of this booklet. 6. 39 ﬁﬁwwmﬁmm

8. If you write your Name, Seat Number, Phone Number or put 7. YU =T a2 SSaedl S I=g1 IS e Y HIa.
aﬁytrtnz:irl; ontiny pallrt of tthe ?MR Shﬁfetk,lexceptdf.or 1the space 3. SR S0 aﬁqq HR. WA Horen fowon SAfaits TR Foet
adfotted for the reievant entries, which may disclose your T, TG S, T e fehel 3 Tee 373 RIvrie To
identity, or use abusive language or employ any other unfair NS 5 . g i
means, you will render yourself liable to disqualification. \ GG ST ST ST+ UThall T

9. You have to return original OMR Sheet to the invigilator at the WW ferenezten wherg sram Sfevam . .
end of the examination compulsorily and must not carry it with 9. T HICAMR feneafy Yes 311 TH. 3TR. IAafreht THehihs
you outside the Examination Hall. You are, however, allowed T IO 3T TR aaﬁ,wqﬁma @@W ELICIEERC
to carry the Test Booklet and duplicate copy of OMR Sheet on ‘@?ﬁ'ﬂ Tq STYATeRIeR 1Ay faaneat=n wart 3R,
conclusion of examination. 10. e e feha shie sifel S=Te ST .

10. Use only Blue/Black Ball point pen. ’ . o3 RE e 3

11. Use of any calculator or log table, etc., is prohibited. 11. il .

12. There is no negative marking for incorrect answers. 12. W SEREIC TOT SR ST SITOTR e




SEP - 11221/11—C



Economics

Paper II

AL I

gyatrent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A YIAUCThd THU PO (100) SETAE A el oTRd. Uoieh WAl & (2)

U Sed. €@ YA e
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[Maximum Marks : 200

1.

The analysis of Heckscher and Ohlin

theory is based on ...................

(A)

(B)

(&)

(D)

Absolute advantage on the
difference in factor endowments
among different nations

Comparative advantage on the
difference in factor endowments
among different nations

Absolute advantage on the
difference in labour endowments
among different nations

Comparative advantage on the
difference in labour

endowments among different

nations

RFgL-Migata  fagiars  fad=d

(B)

(&)

(D)

fafay U= wesw A

ey Y qwTedr

fafay U= wesh Haawhddd

SRR CAGI AR Chi|

fafay Tsr=an o\ geerhddia |
SICEGEICKI
fafae User=a1 99 Hadhddrd

qoHIcHE AH qHRIE!

[P.T.O.



(1) This international institution
was set up in 1956.

(2) It is part of the World Bank
group of institutions.

(3) It gives loans and guarantees
to member countries.

The institution refers to above is :

(A) International Monetary Fund
(IMF)

(B) International Bank for
Reconstruction and
Development (IBRD)

(C) International Finance
Corporation

(D) International Development

Association

The amended FERA was passed in

(A) 1973, SEBI, 1998
(B) 1973, FEMA, 1999
(C) 1975, FEMA, 1999
(D) 1973, FEMA, 1990

SEP - 11221/11—C

(1) A AR = T 94
1956 HEJ FreAl B,

(2) & TE SR Sk THE T 91
R,

(3) I HEA HSH U St o BHI 99
H.

B GE HIr ?

(A) SATARSET Aot

(B) STAWSE™ gAaeol g o o

oA

(C) STawrdy foxita Herises

o

(D) AL TThrd T

(A) 1973, SEBI, 1998
(B) 1973, FEMA, 1999
(C) 1975, FEMA, 1999
(D) 1973, FEMA, 1990




The prevention of Money

Laundering Act was passed in the

(A) 2001
(B) 2008
(C) 2002
(D) 2007

Identify the correct statement from

the following :

(A) Narrow money and broad
money are always the same

(B) Narrow money is greater than
broad money

(C) Narrow money is the same as
broad money, depending on the
policy of government

(D) Broad money is always greater

than narrow money

In the context of India, which is the
correct definition of M; ?

(A) M; = Currency + demand

deposits

(B) My = Currency + term
deposits

(C) My = Currency + demand
deposits + other deposits

(D) M; = Currency + post office

savings deposits
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qelt A HI0AT STl
(A) 2001
(B) 2008
(C) 2002

(D) 2007

ETelierisht sRieR faem siesen :

(A) Hgpfad Jor 9 fowga T@n § e
EEREERIG]

(B) wegfaa ten 71 forqa Tremaan s
3T

(C) THI HROTAR Hehfaa T&1 9
forga T § 9= etmam

(D) foreqa T &1 Segfad Temdan JeH=
S 3Tl

9RAre "Wewia M, = sler s
IO ?

(A) My = T + wnoft S

(B) M, = T + Wedt ot

(C) M; = &1 + #FToft et + saX S

D) M; = T + drdia = oo

[P.T.O.



Which of the following is not the

source of aggregate monetary

resource in India ?

(A) Net Bank Credit to Government

(B) Bank credit to the commercial
sector

(C) Net foreign exchange assets of
the banking sector

(D) Net public debt of the
government

In order to determine the external

value of rupee, India shifted from

fixed par value of rupee to a basket

of currencies, comprising .................

in 1975.

(A) Pound Sterling, American
dollar, Yen and German mark

(B) Pound Sterling, Euro, American
dollar, Yen

(C) Euro, Pound Sterling, German
mark, Yen

(D) Euro, Yen, American dollar,

German mark

SEP - 11221/T1—-C
WeATeTieh! Il YR 999 Aifgeh
THEMET 9id el ?

o

(A) IR 1

A K Sk ol

(B) MR &ten ot -o ok el

(C) T SEehgict o faReh =i el

(D) WHRE o TESeh ool

I 9Tl fRAd SEvaEel YA &4

1975 \& feer faf g foradi=n = e

frifea e

(A) tie wferm, st efer, 39 sfur
SLeikicH

(B) die wfem, I, TR TR, 3

(C) I, die w=fom, ST Ok, 3

(D) IJAU, [, TARHA SfeR, THA A




10.

Which of the following is a major

contributor to India’s Foreign

Exchange Reserves ?

(A) Gold

(B) SDRs

(C) Foreign Currency Assets

(D) ADRs

(z) All state co-op banks in India
are scheduled banks.

(@) All scheduled banks are
nationalized banks.

What can you say about these

statements ?

(A) Both statement (i) and
statement (ii) are incorrect

(B) Statement (i) is incorrect and
statement (ii) is correct

(C) Statement (i) is correct and
statement (ii) is incorrect

(D) Both

statement (i) and

statement (ii) are correct

10.
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Ww Y HISUAHES 1] HId
e e ?

(A) 9

(B) SDRs

(C) forzft =™ =

(D) ADRs

() YRAd Td U9 TEhRT okl a1

STYgfea d1 eTRa.
(i) T STIHfaq SehT AT ASLATHA skl
3TTed.

il faariemed gl wE WO ?

(A) faum () 9 faum (i) & <=1 9%
3R

(B) foem (i) & 9 9 a9 (i) § o=
R

(C) faum (i) T aeR 9 faum (i) T 9%
3R

(D) faum () 3 faem (i) & S8t SRR
3Ted

[P.T.O.



11.

12.

13.

Which of the following items is
excluded from the concept of money
supply in India ?

(A)
(B)
©)

Coins of all denominations

One rupee coins and notes

Demand deposits in the
Commerical Banks

(D) Coins and currency notes held

by commercial banks

The government introduced Repo

rates and Reverse Repo rates in the

respectively.

(A) 1991, 1997

(B) 2000, 2001

(C) 1992, 1996

(D) 1992, 1999

RBI constituted a committee on
Euller Capital Account Convertibility
in 2006, namely .........ccccceeuuniriiiiiennenne
(A) R. Gandhi Committee

(B) Second Tarapore Committee
(C) M. Narsinham Committee

(D) First Tarapore Committee

11.

12.

13.

SEP - 11221/11—C

WTeATeTdeh! IVl S2eh MIRATde J9Tea

QeI Feheudqd ailaell 3R ?
(A) §d oot Al

(B) W ®UATE! AON AU A
(C) =Y Sepmeie ARTOR et

(D) AT ShTSidesiel 0T o =et el
A W e 9 Regd W oA

(A) 1991, 1997

(B) 2000, 2001
(C) 1992, 1996

(D) 1992, 1999
2006 A& WA e s Wigaell

e gl aRad e

& Afgdt T et
(A) 3TR. et |t
(B) gH IRAR Gt
(C) . Rfgeq it

(D) dfgelt IRMYR G




14.

(1) NABARD was established in
1982 and it took over the

functions of Former Agricultural

Refinance Development
Corporation.
(@) NABARD and National

Housing Bank (NHB) are
refinance institutions.
What can you say of these
statements ?
(A) Both

statement (i) and

statement (i) are incorrect
(B) Both statement (i) and
statement (ii) are correct
(C) Statement (i) is correct and
statement (ii) is incorrect

(D) Statement (z) is incorrect and

statement (i7) is correct

14.
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() TETEET TUAT 1982 HE v

et 9 AeTER et St gAfa

EEQLS H‘él'—isodl‘cl STH BTl B

(i) T&re g U fas 9 (NHB)

I gAfo e ST

i@ faumrEEa gt wE =oa ?

(A) faam () 9 faum (i) ¥ =6 ==
e

(B) faum (i) @ faem (i) & St s
e

(C) faum (i) sWeR 9 faumd (i) =T
e

(D) faum () I o faum (i) IR

TR
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15.

16.

17.

Fiscal consolidation refers to

improving the quality and
effectiveness of .......ccccceevvneeennne.

(A) Public revenue

(B) Resource mobilization

(C) Public expenditure and

resource mobilization
(D) Direct taxes
Which one of the following is not an
example of transfer payment by the
government ?
(A) Salary of the President of India
(B) Pension
(C) Unemployment allowance
(D) Pension for

unorganized sector

workers in
The ‘twin deficit’ problem means a
country having :

(A) High fiscal deficit and high
revenue deficit

High fiscal deficit and high
governance deficit

High fiscal deficit and high
primary deficit

High fiscal deficit and high

current account deficit in the

(B)

()

(D)

balance of payments

15.

16.

17.
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TS

foritel garehiul TS|
T[UTeR ST ke /el FEROT ol
B

(A) TSI Aegar

(B) ¥ Wit gHESS h{vArH]
(C) wrefSifer T for |iem |t

gHSS RO
(D) YI&l HI=
TTATATRT HITA IMHATR AT

gL JeM 3<el0 'l ?

(A) YRAr= TS aad

(B) fait

(C) SRR =Tl

(D) SToHfeq & SRS
o

ozl qerdl TR US| TETE I

I U .

(A) =9 foxig q onfor 3=u eyl

€<
(B) 3=a foxita qe onf S=a sk

€
(C) 3=a foxita q@ snfor 3=a wrafae

€
(D) =4 foxita e 71 SHerRdarden

=] TeAeie = 2

o o

EE

10



18.

19.

20.

The increase in civilian expenditure

share has been fueled largely

(A) Defence expenditure needs
(B) Rate of interest

(C) Primary deficit

(D) Social security and welfare

program

The Law of Rising Public

Expenditure was advanced by :
(A) Adam Smith

(B) Paul Samuelson

(C) Adolph Wagner

(D) Wiesman and Peacock
Government expenditure on
education and health is considered
as expenditure on .....................
(A) Non-merit goods

(B) Merit goods

(C) Club goods

(D) Rival goods

18.

19.

20.
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IR TEi= JREA d9e e

(D) ISR GRET ST el HhiHshd

e HeSieh T am

11

[P.T.O.



21.

22.

The expansionary effect of balanced
budget is called the ......................
(A) Balanced budget multiplier
(B) Investment multiplier

(C) Money multiplier

(D) Expenditure multiplier
Balanced budget multiplier is :
(A) The ratio of change in GDP to

change in government spending

matched by equal change in

taxes

(B) The ratio of change in
investment to change in
saving

(C) The ratio of exports to
imports

(D) The ratio of tax rate to tax

base

21.

22.

SEP - 11221/11—C

qqfad SARSIeehTeAl foraia g

I BUAE :

(A) Fgfed SRSI® U

(B) Ao TUrR
(C) U9 TUTR

(D) &= T

e SRS U :

(A) Uhdl 3Tdid Sculfedrdid Searsi

?IIHq'?I"«I eIl QL h{dedl forqer=

IEATIIE ST

(B) Tdav&Idia dgar=al S=drdid

JSATI STHATAT T[UTca AR
T

(C) fAatd=ar ATATErei A9 T

TUMTcdUd el SHHd]

(D) U= UHERT STHA I U]

TUlRITEEl 3T

12



SEP - 11221/11—C

23. An increase in government spending 23 I B aefaeaE ey TTOReR
has ..., effect on the | TR
aggregate demand.
(A) =IeTfodeh
(A) an inflator
(B) a deflator (B) eI
(C) an accelerator (C) e
(D) a multiplier (D) TR
24. The size of increase in government | 94 T TEdIe AR SHR TS T
expenditure which leads to rise in T 29 ST e 2. A fER
GDP is determined by which gc??lcfll\jlchﬁl O
technique ?
(A) o
(A) Inflator
(B) Deflator (B) Heriss®
(C) The accelerator (C) =Th
(D) The multiplier (D) TR
25. Incidence of a tax on wage income | 95 Jqq Sq=ERIT HIURT =~ ER L IE
may be affected by ..................... 3% oAl
(A) Individual protest (A) =Y Soen Fow
(B) Inflation (B) weETe
(C) Collective bargaining (C) |rgeTes HreTredt
(D) Deflation (D) = ERE
13 [P.T.O.



26.

27.

The Finance Commission in India
is appointed by the President of
India as per the provision of Article
.................. of the Constitution of India
..................... is the Chairman of
the 15th Finance Commission.

(A) 270, N. K. Singh

(B) 280, Y. V. Reddy

(C) 280, N. K. Singh

(D) 281, Y. V. Reddy

According to the Classical
Development Theorists, the key to
Progress iS ....ceveeeeeeeeenn.
(A) Labour

(B) Technology

(C) Laissez faire

(D) Capital accumulation

27.

SEP - 11221/11—C

(A) 270, TH. . fgm
(B) 280, . =& gt
(C) 280, T. =. fam

(D) 281, 9. =&. I

afusa fawmmm fagiaamai=ar a4

& W TEfheet TR
(A) =™

(B) M

(C) Fréwam

(D) Wsad T

14



28.

29.

(1) The term creative destruction
was introduced by Samuelson.

(@1) The term creative destruction
refers to improved quality
innovations that make old
technologies obselete.

What can you say about the above

statements ?

(A) Statement (i) is correct and (i)

is incorrect

(B) Statement (7) is incorrect and (i)

is correct

(C) Both statements (i) and (ii) are

incorrect

(D) Both statements (i) and (i) are

correct

Which of the following indices that

the World Bank has developed is

related to sustainable development ?

(A) Inclusive Index

(B) Green Index

(C) Poverty Index

(D) Sustainability Index

28.

29.

SEP - 11221/11—C

(@) gorras foamen & we wdyem

HRIUEEA AT ST
() Gensh former =usl SH TR
FTASE HIOR GG Tora

TS Bl
T fagHEEd goe 7 &1 TR ?

(A) dfeet faum SR smfor g 9 o1

(B) ufgal faur == onfr g faum

TR 3T

(C) Tt faem () =7for (i7) gerer sa

(D) <=t faum (i) 2nfon (i) seR 3Ta

o

ST

o o o

o NN NN 2N A
n den [den [ encled] [QRIIenHend

TTATAdRT HI1omar SIS Imvad
frfed e ?

rolq')li“ll?ﬁ Illsd
(A) TaEHERR AR e
(B) i@ fidsmen

(C) <ifsa e

o

(D) IMYaddar ™

17
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30.

31.

32.

..................... 1s more

Calculating
straight forward than calculating the
HDI.

(A) Human Poverty Index

(B) Human Happiness Index

(C) Multi-Dimensional Poverty

Index
(D) Gender-Development Index

Which country among the BRICS
has the highest life expectancy as
per the 2016 data ?

(A) India
(B) Russia
(C) China
(D) Brazil
Which of the following is not a

criticism on Marxian theory of

development ?

(A) Static analysis

(B)

Surplus value is unrealistic

(&)

Marx could not understand

flexibility in capitalism
(D)

Marx believed in government

intervention

30.

31.

32.

SEP - 11221/11—C

qra faswmg A ImsRT=a1 AT &I

I HIOA K0 R gIH

(A) HHE <iiiey fdsren

(B) ®Me gHyE fAevie

(C) wg-3mart Siisw fademe
(D) fam-faswma
2016 =1 AFSIRITIR BRICS Terdiet
SHIUfC] QM= SGAM Tllod! Helifereh 378 ?
(A) Rd

(B) ern

(C) =M

(D) et

EeATeteht Shivrd faem AR == faenTd

IED

fagideial SRt @t ?
(A) Tediia faweroo
(B) Afafted Hou oramdd 3T

(C) AT WISaaeer=a ddfaehdd

N N fa
Hlchedd gld Richel Alel

(D) HEEET ST sader favard
BIdl

16



33.

34.

Applicability of Schumpeter’s theory
to underdeveloped countries is

limited because :
(A) It neglects savings

(B)

It neglects development

(C) Large population of these

countries

(D) High illiteracy in these

countries

In Harrod’s model of growth, the

actual growth rate is

(A) Actual income and consumption

level

(B) Actual amount of saving and

investment in the country
(C) Actual amount of public
borrowing

(D) Actual difference between

income and consumption

33.

34.

SEP - 11221/11—C

STeqfashfaa qenHed Yder=n fagiam

SIS HIifed 3R, RO

(A) fagian seden geffaer e

(B) g fashra Heneumt gaiferel 31

(C) I <WMd Yo Alhae 3R

(D) =1 LN S=a ferar s

IS = JGI WIS arad JEIeR

BN

(A) I ST ST TN grdest

(B) ORI Yedel st Mol ey

(C) HreSieh o] Il {&hA

(D) 3T A0 IUYAT qdel Hich

17
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35.

36.

Fei-Ranis theory of development is

considered as an improvement over

(A) Lewis theory

(B) Solow’s model

(C) Joan Robinson’s model

(D) Harrod-Domar model
Meade’s growth model explains
relationship between :

(A) Income growth and inflation
(B) Income growth and capital
accumulation

(C) Income growth and rate of
interest

(D)

Income growth and population

growth

36.

SEP - 11221/11—C

................

(A) Afge=n fagmE

(B) 9 9rEq

(C) SF Ufeg=< 9req

D) -8 U&q

(C) 3U=aTE AT SN €T

(D) Sq=aE M AhEEAEe

18
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37. According to Leibenstein every | 37. ES=<IE a=A1 Wd, Todsh Adeqeree
economy is under the influences of YHEAR 1 T T
two forces, namely :

e ST
(A) Savings and Investment
(A) =it STl T[qaveR
(B) Shocks and stimulants
(B) &b ol YTk
(C) Agricultural development and
(C) Foit faswra efor siEifer faswma
industrial development
(D) Income and investment growth (D) S S YT TS
38. Nelson’s theory of development | 38. “oud ar=a1 foswmfaga 7
assumes : T ST,
(A) Keynes’ theory of employment . - .
(A) 9 = SR THSI
(B) Marxian theory
(B) wed aren fagia
(C) Malthusian theory of
(C) WIeo™ Ir=l ahaen fagma
population
(D) ¥ I aeen Fem
(D) Say’s law of markets
19 [P.T.O.



39. How does

the environment

contribute to the circular flow of

income ?

(@)

®)

(c)

(d)

(A)

(B)

(&)

(D)

Providing consumer services of
various types to domestic
households

Providing household services to
domestic firms

Providing natural resource
inputs to domestic firms
Acting as a repository for the

waste products of domestic firms

(6), (¢) and (d)

(a), (c) and (d)
(@), (c) and (b)

(@), (b) and (d)

39.
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ST b1 JATRTd IR0 HIMYHTR

IR <d ?

(@)

®)

(c)

(d)

(A)

(B)

(&)

(D)

ST HZATS! ATl ITEFT

Haral qRael FH)

ST STNTHEATAT ST FalT gl
ST SUNTEEAA (i FETeH
SR EL

TS T ISR UM A L.

(b), (c) S (d)

(@), (c) A (d)
(@), (c) AT (b)

(@), (b) iU (d)

20



40.

41.

The optimum level of economic
activity and associated pollution
from society’s point of view occurs
where :

(A) Marginal Social Benefit <

Marginal Social Cost

(B)
(®);

Marginal Social Benefit = 0
Marginal Social Benefit =
Marginal Social Cost

(D) Marginal Social Benefit >

Marginal Social Cost

(z) Malthus supported population
control to ensure balance
between population and
availability of food grains.

(@1) He advocated “unethical”

means to control population.
What can you say about the above
statements ?
(A) Stetement (i) is correct but (ii)
is incorrect
(B) Statement (i) is incorrect but (ii)
is correct

(C)
(D)

Both () and (ii) are correct

Both () and (ii) are incorrect

40.

41.
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ST gt o wfafash 9

AR FAfd el qA| e

eI A

(A) AR HHISR A < HH AT
ek

(B) HrHiq | o9 = 0

(C) HHId TSR T = HHid qifSieh
ek

(D) R HHASR A > HH ST
ek

Q’l\lchbi{%II J AU STeeEdl

@

AT THATA TEUATHIS] AT

I Arehge el IERR
el

(i) ArREE FEsoTEEl @ sTfas
HEAET RN hedl.

e fagmemea oau wE 9 ?

(A) faum () =g TR 9g faum i)
T IR

(B) faem () 9% =m® g faum i)
T 3R

(C) Tt faum () 9 (i) 3Teh Aed

(D) =T faam () 9 (i) = 3Ted
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42. As per the census 2011, arrange the

43.

birth-rates of the following states in
India from the highest to lowest
order :

(A) Bihar,

U.P., Rajasthan,

Karnataka

(B) U.P., Rajasthan, Bihar,
Karnataka

(C) U.P., Bihar, Karnataka,
Rajasthan

(D) U.P., Bihar, Rajasthan,
Karnataka

The name given to a tax which

makes the firm pay for all the

pollution damage it creates with

each extra unit of output is :

(A) Pigouvian

(B) Tradable permits

(C) Coase Theorem

(D) First Law of Thermodynamics

SEP - 11221/11—C

42. FF 2011 SUHTHR HRA=A el

43.

o] SGUIHR Falfee O qard et

AMYHOT HH ATl

(A) TIER, ITULY, TS, FHALH

(B) WYY, Uy, fogR, sdles

(C) Uy, foeR, wdfesh, U™

(D) WYY, foBR, TSRYM, FleHh

Il AR AT ScuTfed ShIdml

JENTEE GO S BT hid e

RIERIEIEREIC]

(A) oo

(B) SM@I™ATT qId™

(C) =N JHF
(D) SWRTfaehr=n gor f7am
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44. What refers to the trapping of heat

45.

46.

between the earth’s surface and
gases in the atmosphere, especially
carbon dioxide ?

(A) Greenhouse effect

(B) Multiplier effect

(C) Atmosphere effect

(D) Demonstration effect

In which year was the Department
of Family Planning at the centre set
up ?

(A) 1965

(B) 1966

(C) 1977

(D) 1975

Name the Union territory having
the highest density of population

from the given below :
(A) Chandigarh

(B) Delhi

(C) Puduchcheri

(D) Daman and Diu

SEP - 11221/11—C

44. qeATal YSSYN o STATERUITdd &7,

45.

46.

oo : e SEeieES AT<aTd ST
FShHAl S0 I H1F WU ?

(A) eaTe diom

(B) Ttk URomH

(C) =rarery qiomd

(B) 1966
(C) 1977
(D) 1975
IEAdH! Alhdeadl Halfisw  wEal
(A) =TS
(B) feeeft
(C) gg=dt

(D) <HY 9 <4
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47.

48.

Which item from the list below is a

positive externality ?

(A)

(B)

()

(D)

Public immunization

Traffic Jam

A neighbour’s barking dog

Pollution

What is market failure ?

(A)

(B)

()

(D)

Something prevents the market

to allocate resources efficiently

Both consumers’ and
producers’ surplus are
maximised

Free market of individuals

acting in their ownself interest
leads to a socially desirable
results

There exists no consumers’

surplus

SEP - 11221/11—C

47. Welta IARIdid hIvdl B2 ¥digdt

48.

THifaar 2

(A)

(B)

(&)

(D)

qreSitTeh T gfqeie 3uT

ABIH RIS

SISl U

ECH

R AIIY RIS A ?

(A)

(B)

(&)

(D)

AT FHEATE FEgHdT 92y

FLOAIRA TEd STd
SYIRT o ICAIGR AT el SfeeRT

Hegaq 3Td

ek SITSTRIG TSl 2ekil Telfgd IRUER

qraifSswg et srafara afiony

HrEdrd

U 3TfeeR AT 3 Al
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49. According to Central Statistical | 49- hs1d TEAh! Heer=an Hd, 2017-18
Organisation the growth rate 71 focia oo FET, ISANT AT Tal
achieved by agriculture, industrial AT W Foe TR SgEE ’
and service sector during financial

..................... 31.'.&.[ tessesessessessesresiens EEH%
year 2017-18 stood at ................. ,
....................... and ................. eI
percentage respectively. (A) 2.1, 44, 8.3
(A) 2.1, 4.4, 8.3 (B) 4.9, 5.6, 7.7
(B) 4.9, 5.6, 7.7
(C) 0.7, 8.8, 9.7
(C) 0.7, 8.8, 9.7
50. Match the following : 50. Sl el
Year/Census Child Sex ELVASEUEN ATl
Ratio in India are A "IUﬁ?lT
(@) 1981 @ 914 (@) 1981 () 914
(6) 1991 @) 927 ®) 1991 i) 927
() 2001 (W) 945 (©) 2001 (iii) 945
d) 2011 v) 962
@ w) d) 2011 (iv) 962
Codes : N
Hehdiah :
(@ b)) @ @
(@ b)) @© (@
(A) Gu) Gv) @) @) ey . ..
(A) @) @) @ @)
B) @) @) @ @ B) Gv) @) G) G
(©) ) )@ © @ G) Gi) 6
D) @ G @) (o) D) G G Gi) Go)
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51.

52.

According to the 10th Agricultural

Census (2018), the average size of
operational holdings in India is .........
hectare in 2015-16.

(A) 1.15

(B) 1.08

(C) 1.23

(D) 1.33

Swachha Bharat cess has been
at the rate

enforced from

........................ in India.
(A) November 2015, 0.5 percentage
(B) December 2015, 0.05 percentage

(C) January 2016, 0.1 percentage

(D) August 2015, 0.01 percentage

51.

52.

SEP - 11221/11—C

BT T VAT (2018) STTHR, WRATI
HRUEHTE T SR 2015-16
S S —— S TEE AR

(A) 1.15

(B) 1.08

(C) 1.23

D) 1.33

N —
e S e e

(A) FRsR 2015, 0.5 Fh

(B) fedsr 2015, 0.05 =5

(C) Sar 2016, 0.1 2

(D) = 2015, 0.01 =F
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53. Which of the following is portrayed | 53. ST RIS e, 3T T
in the population pyramid of a Fm faf| B 2
country ? )
(A) TTHoT & AR &R AR HE
(A) Rural-urban distribution of
population [ERIEE
(B) Young-old distribution of (B) a1 9 95 FAEIRE Ahaes
population
IECIEE]
(C) Age and sex distribution of
population (C) a3 9 fermfe™ denaed faasH
(D) Gender  distribution  of D) fefrem dedes e
population
54. Pradhan Mantri Sahaj Bijli Har | 04 T Sest fasiel o0 5t 1o (Jm)
Ghar Yojana (Saubhagya) Scheme
.................... T B vevvervenveens USH
was launched by the ........................
F2 1) o RS . & HOIE A
(A) State Minister, 5th September,
2017 (A) T wfl, 5 g<a, 2017
(B) Finance Minister, 25th
September, 2017 (B) fae =T, 25 WaR, 2017
(C) Prime Minister, 25th September ) )
(C) d9awe™, 25 ¥<ar, 2017
2017
(D) President of India, O05th D) TR, 5 qo, 2017
September, 2017
27 [P.T.O.
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55. Arrange the following Indian | 55. WIeiiel R forwiia &t famenr= e

Financial Sector regulators in e n

(HAT=Al enlcisn QAR TS Uit <l

chronological order of formation :

(i) Securities and Exchange Board (G) Y @ 9 g 9@ (SEBI)

of India (SEBI)

.. (@) vrdra famr fqams 9 faar™
(i1) Insurance Regulatory and

Development Authority of India
TifgeRtor (IRDAI)

(IRDAI)

(i) Pension Fund Regulatory and (i) Afgeafrarg fet fames 3 fowmd

Development Authority

(PFRDA) e (PFRDA)

(iv) Forward Markets Commission
(fv) ST SR | (FMC)

(FMC)
Codes : Hehdich :
A @), G), Gi), @) A G, G), Gi), Gv)
B) (), @), Gi), i) B) (), @), Gi), i)
©) @, Gi), (), @) ©) @), Gi), (), @)
D) @), Gi), @), @) D) Gv), Gii), @), @)
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56.

57.

The minimum support price for

agricultural products is
recommended by which of the

following ?

(A) Cabinet Committee on

Economic Affairs

(B)

Commission for Agricultural

Costs and Prices

(C) Agricultural Produce Market

Committee

(D) Directorate of Marketing and

Inspection

Which one of the following is not a

‘Maharatna’ status company ?
(A) SAIL
(B) BSNL
(C) ONGC

(D) BHEL

56.

57.

SEP - 11221/11—C

Fol Scarfed A=Al fRAM STHRyE

fradi=l PR SeloTieh! hIvTHTGR

el S ?

(A) 3R FaRRiasHes HisHSe AiHdl

(B) &t =@ 9 fhma M

(C) EE‘Sﬁ 30+ ISR 9iHdl

(D) fauoE 9 qUrEel =TS

WTeATeTdeh! ShIvel Tehl o9  Herel'
TS A& ?
(A) SAIL
(B) BSNL

(C) ONGC

(D) BHEL
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58.

59.

National Rural Health Mission

(NRHM) was launched on

in India.

(A) 2nd October, 2005

(B) 12th April, 2005

(C) 15th August, 2005

(D) 1st April, 2005

While recommending horizontal

distribution, which of the following

criteria got the least weightage by

the 14th Finance Commission ?

(A) Tax collection

(B) Area

(C) Population

(D) Income distance

59.

SEP - 11221/11—C

T SR T (NRHM) 9% 3.

(A) 2 SRR, 2005

(B) 12 Tfud, 2005

(C) 15 A=, 2005

(D) 1 Tfua, 2005

LR foaromet TR Rg samr, 143

facd SITENTER ©ITATAThT h10TcH]

feroren foram 9 fHesren ome ?

(A) T Hehod

(B) &

(C) rhEe

(D) 3 3R
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60. Match the following :
State
(@) Andhra Pradesh
(b) Karnataka
(¢) Gujarat
(d) Maharashtra
Urban Population (2011)
(1) 45.20 percentage
(11) 42.60 percentage
(zi1) 38.60 percentage
(tv) 33.50 percentage
Codes :
(@ b)) (o

(d)

A @ @ O

(1i2)

B) Gv) @) G @)

€ (@ @O @) @)

D) & @) @) (o)

60.

SEP - 11221/11—C

N S
[ Sllsl sjeodl ¢

s

(@) STYIRT
(b) FHAEH

() TS

(d) HBNIeg

T ATRE=T (2011)

() 45.20 TFh
(i) 42.60 TFh
(iii) 38.60 TFh
(iv) 33.50 TFh
Hehdieh :
(@) ()

(A @) @)
(B) Gv) (i)
©) @) @

D @ @)

(c)

@)

(i)

(i)

(€773

(d)

(i)

©)

(i)

(tv)
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61. Choose the correct option regarding

61. @i faem () 7t (i) = Heuldd

the following statements (i) and (ii).

(1) An increase in the income
beyond certain limit leads to
increase in consumption of
necessary goods.

(1) As per the law of demand, price
and demand for commodity
change in the same direction.

(A) Both the statements are correct

(B) Statement (i) is correct and

statement (ii) is incorrect

(C) Both the statements are

incorrect

(D)

Statement (7) is incorrect and

statement (i7) is correct

I w9 e

() T fafyme qaie=a gl S

e A ST T =T AU

e BId.

(i) AFTiE FEEEER awEt e

o7 AN WehTe Q9 SEerd.

(A) e faum IR 14

(B) faum () seR 31e mfor faem (i)

IHh IR

(C) X faam 9= amed
(D) faum () I 319 faum (i) s’

Sl
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62.

63.

Consider that all inputs in a
production process are constant
except only one input. If the total
product in this case is at its
maximum, the corresponding
marginal product is :

(A) Maximum

(B) Zero

(C) Rising

(D) Falling

People who choose most risky
investments are :

(A) Risk averse

(B) Risk neutral

(C) Risk seekers

(D) Risk takers

62.

63.

SEP - 11221/11—C

o N A

3T GHS i, Toh1 SCAGA Alshadicl haod

Teh IS dmeht §d 3TeH f¥er afed. =

feorda SR T IcqEH WewH 9d, W

(A) WHexH

(B) T[=

(C) dmd

D) =

S Ao waifaes SrerHeAr e

(A) TG IR

(B) SEH dexy

(C) NI

(D) & =R
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64.

65.

66.

In a game, two or more decision
takers know that their decisions

are :

(A) Dependant

(B) Independant

(C) Strategically interdependent
(D) Mutually inclusive

Other things remaining constant, if
there is a successful advertisement

campaign for a commodity, the

demand curve for the same shall

(A) Shift to the left
(B) Shift to the right
(C) Become positively stopping

(D) Become parallel to Y’ axis

Economic rent is the payment to a
factor whose supply is :

(A) Completely inelastic

(B) Completely elastic

(C) Unitary elastic

(D) Less elastic

64.

65.

66.

SEP - 11221/11—C

W fagamel s fear S i
(A) sTacs

(B) A

(C) A= TRIM T ST

(D) TR GHSST

TR gffEerdt feeR STadmI, TEmEn SEqEret
e STl HIerd IR Hedd,

(A) SEhe Tl

(B) 3Slaiehe Tlehdl
(C) &7 ARl el
(D) ‘A’ A& THR Bl

eeh T WIS WM SEHE haid

ARYEE M= el
(A) HYUIO TR
(B) SYUI® crafeeh

(C) Tehen! oIaraeh

(D) HHT TS
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67. The general equilibrium model was | 7. WSHERO Hqe Wi = DIE
developed by : fasfaa &
(A) Kaldor-Hicks (A) Hesi-fe
(B) Alfred Marshall (B) 3Mehe HIRIA
(C) Adam Smith (C) ofew Ty
(D) Leon Walras (D) witef s
68. Which one of the following is not a | 8. Weilcidah! IO I YR THA
static property of a general e T S T
equilibrium state ? L.
(A) EN HEAHT WEEHI HrEiem
(A) efficient allocation of resources
fereeon
among firms
(B) equilibrium of consumption (B) ST W
(C) efficient combination of products (C) SereHr=l shrferd FHm
(D) efficient distribution of profits (D) TR hraed ferdo
69. Any point along the Edgeworth | go yogefen wir awEa HIvEHE fog
contract curve is : | e, .
(A) Pareto efficient point (A) T& wriem fog
(B) Pareto inefficient point (B) W& rhrdem 1%@
(C) Pareto suboptimal point (C) T gy %‘1
(D) Pareto’s welfare point (D) RE= FHE 1%@
35 [P.T.O.



70.

71.

72.

Third fundamental theorem of

welfare economics assumes that

there are no :

(A) Economies of scale
(B) Externalities

(C) Diseconomies of scale

(D) Economies of scope

The market allocation under adverse

selection is :

(A) Pareto inefficient

(B) Pareto efficient

(C) Pareto optimal

(D) Pareto efficient and optimal

In Pareto optimal or efficiency

equilibrium :

(A) Situation, it is impossible to
make anyone better off without
making someone worse-off

(B) Situation in which it is possible

to make someone better off

(C) Situation where supply equals

demand

(D) Situation where marginal rate

of substitution and marginal

rate of technical substitution

are equal

SEP - 11221/11—C

70. AT STAVTEATAT fad=a1 Jeryd JHamd

71.

o o2

gfdeRed Feeistaia s faawo
.

(A) W srhEem

(B) W& =rdem

(C) WA T

(D) W& HEYH 9 9T«

72. WA TRaAE fear wrfem HqeE

(A) il feurdt Seg1 Wk seKdT=A
HEATIA, GE-ATA AT &
S A GUR HO SWH A

(B) o139t feerdt Siegr Wahl oFerir=an
FHAT M€ HIO T B

(C) oTf et Siegl qRael ARTNERIeR
HAA STl

(D) el feerdt Sieg1 HiHifaeh TeRISH
T IO SR Seeh TR &3
HAM STl
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73. Which of the following is an example

74.

75.

of capital goods ?

(A) Food and clothes

(B) Tools and machinery
(C) Consumer durable goods
(D) Fertilizer

The difference between production
at market price and producers’ price

is due to :

(A) Depreciation

(B) Net factor income from abroad
(C) Indirect taxes and subsidies
(D) Net transfers between countries

Macro-economics is a study of

economics that deals with :
(A) Firms and households only

(B) Firms, households, government
and external sector
(C) Demand for a specific product

(D) Balance of payments

73.

74.

75.

SEP - 11221/T1—C
JEIcTdehl HIUTAT TAME WiSdel aeqd

320 3R ?

(A) 3T 9 HUS

(B) TR 9 I

(C) Ureshiqant feehrs o&q

(D) @d

IS TRAAIIHTI AFUR Icqres 9

ST TRAdITAT STHUR 3Icqed

ATl e IV HEhHes ad ?

(A) =ET

(B) 93 oo ®esh Scu=
(C) AYIY T I 3TRM
(D) 2edia e g&diaLol

TS AT & AT TN

JRICTUh hETal ST 318 ?

(A) Wl TN § Hed

(B) SENTHRN, Fed, IMEF 9 arel &
(C) fafere a&g=t AFmh
(D) =R
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76.

77.

78.

The length of a business cycle is
measured from :

(A) Peak to peak

(B) Trough to peak

(C) Peak to trough

(D) Trough to trough

Which of the following is not true
about the steady state growth path ?
(A) The capital stock grows faster
than GDP

(B) The ratio of capital stock to
income is constant

(C) Investment is a constant share
of GDP

(D) Consumption is a constant
share of GDP

The Demand-pull inflation exists
when :

(A) Costs are increasing faster than
output

(B) The level of aggregate demand
grows faster than the supply
(C) The prices of imports are rising
than the domestic goods

(D)

There is an increase in the oil

prices

76.

77.

78.
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ATIRAHTAT AE™ HSHY T8 ol
SIcHE

(A) F3H O Hood

(B) 9@ d ®eed

(C) Hesd o B

(D) @ d T

TeeR aTereen g5t AFTETe qeretieh! v
faum =R A ?
(A)

aieaaral 98l THI enand
SCUET Sefg i sredl
qiead dedrd Sca-eh STHer
o feer 3Ted

e[k TehUT QMR Scq=ra fEer
T STEd

IYHRT THT MG Iea=ran Feer
qT STEA

qEToiiS= = Hireel SIfdcend Adl

(B)

(&)

(D)

ALY I

(A) YN T S A dredl

(B) THU ANV el GLeisaraan
IS o e | 5
(C) <Maia formdiaern st fermadt S

qledid

(D) qaren fwadia 9 B
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79.

80.

The change in investment due to a

change in income is known as :

(A) Consumption

(B) Multiplier

(C) IS curve

(D) Accelerator

A cut in income tax rate to

encourage the household

consumption is an example of :

(A) Expansionary demand side
policy

(B) Contractionary demand side
policy

(C) Expansionary supply side
policy

(D) Contractionary supply side

policy

79.

80.

SEP - 11221/11—C

o N o faY
I SGcAHes [daUehid siael Bidl

el R RUldd 2
(A) 39U
(B) TUTR

(C) IS 9=

(D) wa

AT STHATEAT ST QUATHIST AT R

TS HU § kYA IR0 3T ?

(A) foeariia ARTOST=T €T

(B) Hepiad ARTUS 4Rl

(C) foreaia qRaers= |

(D) HHfd Qa4 8Rul
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81.

82.

83.

The short-run Phillips curve in case
of an increase in inflationary
expectations would result in :

(A) Shift to left

(B) Shift to right

(C) Vertical line

(D) Being unchanged

According to classical models, the

level of employment is primarily
determined by
(A)
(B)
(C)
(D)

Interest rates

Level of prices

Level of aggregate supply
Level of demand for goods and

services

For a random variable following the

Poisson distribution,

ok
k—’x equals :

1
(A) Only mean of the distribution

(B) Only of

PX==~F =

variance the
distribution

(C) Both mean and the variance

D) Vk

81.

82.
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ATecA] IATATE™ET ST &I AHATAT

AYHTAA Fheid IehTeTed g TS ?

(A) STEhe Tl

(B) 3Sldtehe Tlehdl
(C) &« IO STl
(D) o9& B AR

T FITHMTTER, ISTRE 9Tdedl &

ST Jelctieh! ShIvc] Beahlies otd 2

(A) &AST X

(B) forudi=i drdes

(C) WUl QRIS dTdest
(D) 9%] 9 Har=A ARV GTdes

83. Ui Hifeash! faau == ¥

e M \k

z , A T geifaar ?

PX==F) =
1

(A) Tea foarom=t wuad
(B) wad faaquoma fa=mon

(C) FuEd snfur fo=mor

D) Vk
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84. For two random variables X & Y,

85.

covariance measures :

(A) Direction of the relationship
between them

(B) Strength of relationship

between them

(C) Both (A) and (B)

(D) Variance of X and variance of Y

In a linear regression model

Y, =

; = o + BX; + p;, unbiasedness

requires :

(A) Y be correctly measured

(B) Covariance between X and X
be zero

(C) X and Y be not correlated

(D) Error term to be normally

distributed

SEP - 11221/11—C

84. THsT X 3mfor Y ¥ < AGTwE =

85.

ST, e Hedeld i S¥ad ?

(A) TeEeYrT fagm

(B) HeHaY=l Hifedsh &THdl

(C) (A) =1for (B) 2=t

D) X 371 Y =0 foaaemr=n ais

Y.

l

= o + BX; + p; &N [E FAFTHA

gfaamE 21-3RFdIEEr Wreiierdeh! T
AEYIE 9T ?

(A) Y = Heon Safied Sell STEelt
Trfest

B) X Afn T #Ha "gda@ I

3T &
(C) X3aY =1 HeHaY I AHEe gal

D) p = IO AR T
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86.

87.

88.

For a linear regression model

Y. =

l

a + BX; +p;, Durbin-Watson

statistic is used to test for :

(A) Serial autocorrelation among
residuals

(B) Mistakes in calculations

(C) Correct functional form
(D) Heteroscedasticity in residuals

Suppose X is a normally distributed
random variable with an unknown
mean U and an unknown variance
c2. The following test can be used
to

unknown population mean :

(A) The F-test

test a hypothesis about

(B) t-test
(C) Chi-square test
(D) z-test

Which of the following is Hyperbolic

function ?

(A) Y = logy x
B) Y ="
© Y=

M) Y = a + bx + cx?

86.

87.

88.
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YL=G+BXL+pLWWqW

o

(adl o [aV [aV
AlAdHIA solq-dlcHd1 AUl el

a
SheMEISI ATIard 7

(A) erafyrserdia T -9gE 9 &
GRISERIEIC]
(B) STheHIEdIe ekl TUHUATEIS!

(C) oM™ Irg d WY
(D) STafyTerdied ST ehfdel Weh ofdl

HAST X B T foraeor stetcl Argfess
T SFH S &= IO Jed o i
ool o2 R T9d, W Ahaea=l
ST SERT Heforerit forem quruarEet
GeATeTish! VKT STl araXdrd ?
(A) F-=r=mff

(B) t-=r=oit

(C) Chi-Square =i

(D) z-=Ar=0f

Welel THeAldeh! hivd el ST

%a (Hyperbolic) 38 ?

(A) Y = logy x
B) Y =b*
© Y=2

X

(D)Y=a+bx+cx2
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89.

90.

91.

In the linear function D = Z — P,

dependent variable vanishes when

value of independent variable is :
(A) 6
(B) 7
C) 3
D) 2

Find the point of maxima on the

curve :
Y =23 - 622 + 9x — 2
(A) 3
(B) 5
1
D) 0
If demand function is 150 — 50P and
supply function is 25 + 25P, then

what would be the equilibrium
price ?
(A) 3.5
(B) 1.7
(C) 4.7
(D) 2.5

89.

90.

91.
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! T HeAER D = Z — P, 3™

Scfoed Tl STeTeTdeh! sl A=Al
N oSN N N©

IV JeaeR i 3R

(A) 6

B) 7

C) 3

D) 2

JeReRIcl He@H fog e :
Y =23 - 622 + 9x — 2
A) 3
B) 5
©) 1
M) 0
S AN A 150 — 50P T8 A1
Sl el 25 + 25P 3, T HHAIA

fohid @Ielietdeh! hIoT JRid 2
(A) 3.5
(B) 1.7
C) 4.7

D) 2.5
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3 4
92. IfA=|_o _g|, find A%
0 o]
SN
o]
B o 1]
S
© o o
0 o]
® |1 o

93.

As per the principle of comparative
advantage a country shall benefit in
foreign trade if ...................

(A)
(B)

It has better technology
It has better management and

techniques

()

It specializes in goods which

could be produced at

comparatively lower costs
(D) It dumps goods in other

countries

SEP - 11221/11—C

3 4
92. T’R A = _2 _3 ) A2 ‘Q-ha-llo

93.

0 0
@A o o

o
B o 1

S
© |,

0 0
D11 o

qoTIcHeh ST ARelTHR QUM Gehid

(A) SRS 3T =T oM 3T

(B) <¥Mhe 3ifeeh =MTel ST o
LERIERER
(C) W TohHM 3R AR T&q=

I faoefiehtor el @
(D) SR T TH SAYSH ot X
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94.

95.

96.

Which of the following items in a
country’s balance of payments is
classified as invisible ?

(A) Goods exported

(B) Foreign travel

(C) Govt. expenditure abroad

(D) Foreign investment

When the flexible exchange rate

prevails, the exchange rate of a

currency is determined by :

(A) Central bank of a country

(B) Price of gold

(C) The purchasing power of
currencies

(D) The demand and supply forces

in the foreign exchange market

Which of the following statements

about devaluation is correct ?

(A) It leads to higher prices in the
country

(B) It leads to higher imports in the

country

(C) It has only temporary effects

provided other countries do not

retaliate

(D)

It leads to unfavourable terms
of trade

94.

95.

96.
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SIM=AT HABNAIATd @Akl ShIoTdT

heTd TGYA UM afihd shall Sl ?

(A) frafa sheiean o]
(B) foer wam™

(C) HhI=T TRl @
(D) T TAAH

o o

Siegl sgerar fafa

T gX Afcad 319,

hell STl

(A) 3T A Heh

(B) ¥ fRea

(C) FeHr= ©RET et

(D) T e SSTRId e HRTOR & qREel
TRl

STaHCITaE Tefierde! v faem

TR A8 ?

(A) I1es <TMA fopwdt aTedrd
(B) IMes <IMA STEM Aredrd
(C) SR TR ¥ Ufafsrarcass el sheft

TR T AT ATl IROmH Gerdrd

(D) A SRHEAIR AR a7
B
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97.

98.

What is common about the following

countries ?
Cyprus, Virgin Islands, Coxman
Islands, Bahomas and Mauritius.

(A) They are best tourist

destinations
(B) They are known to be Tax
Havens
©)

They are former British colonies

(D) They are highest sugar
producing countries

Duty Drawback Scheme in the

context of foreign trade policy of

India was aimed at :

(A) Raising the tax revenue

(B) Simplifying the tax
administration

(C) Reaching out to more countries

for exports
(D) Enhancing the competitiveness

of export goods

97.

98.
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= 95 eTeed 99F 919 S0l ?

A, TS RS, I TS,
SRHE o A,

(A) T STH W T A

(B) T X FIHd U A

(C) T gatar fodtor sifeha o1 smea

(D) d Haifeer Her S <91 3T

ITATSAT UL I AT SNOEe oid

g 3.

(A) Y HYAW 9@ w0l

(B) T YRTEA GHhL H

(C) frafdradt siferer o=l e

(D) frafa o=t Tqefeficrar arefa
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99. The principal function of foreign | 99, W& wo™ INRE & &E
exchange market is .................. (A) T 39 T T RS s
(A) The transfer of purchasing )

T G FATAT VGRS TEATARYT
power from one nation and
XU
currency to another
(B) The transfer of selling power (B) T ¥ & werre fosn R g
from one nation and currency U R SR REEANES] eI RRY
to another T
(C) Transfer of foreign currency N
(C) TLhIH =eird Tehl <RMhsT TE-0
loans from one country to
QUMRS AL 0]
another
(D) Transfer of trade payments (D) ATIR ST Tl <RMHGT GH
from one country to another SYMhE GO FH0l

100. India’s first Export Processing Zone | 100. YRa Ufedl faia wfezn &=
(EPZ) was set up at in _aa .................................................. WT"ﬁ
........................ T B
(A) Noida, 1975 (A) 7rEeT, 1975
(B) Kandla, 1965 (B) =T, 1965
(C) Kandla, 1975 (C) =T, 1975
(D) Santacruz, 1975 (D) WIAsRd, 1975
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ROUGH WORK
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